Fall '10/MAT 309/ Worksheet 5

Name:

Slibson

Show all your work.

For the following problems, you need to find the statements of the three major theorems in

17.1-17.3.

Note the orientation conventions in those theorems.

1. (20pts) Verify Green's Theorem for the line integral §C Ty dir + y dy, where ' is the unit

circle, oriented clockwise (see section 17.1).
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2. (20pts) Verify Stokes' Theorem for the part of the surface z = 1 — 2 — y? where = > 0,

where F(z,4,2) =
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Siokes Theston

(2xy, .y + 2} (see section 17.2). Use the upward pointing normal.
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. (20pts) Vﬂnfy the Divergence Theorem for the sphere z° + ¢ + 2z = 4 and the vector

ﬁeld F(x.y,2) = {x,y, =} (see section 17.3). ( e hcn-wj
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